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s HGEH)E s HGEH)E s HGH)E
BEMEO(FE B EEREN 12,000,000 12,000,000
ERBEER 650,000 SEARY LSS ICEE A B EEREAND
FEMBQ(EEBREERE) 11,350,000 12,000,000
SHREBICKDEHTH 1,500,000

=(EEMKTQ—HTHhEE) 1.14

HBEIRA 9,210,000 [(BEERE 105+ EEEE18%) +2=14%]
WHES B ER 2,121,000
a5 e 0 7,089,000
[FRB1ERR]
TR 380,000 380,000
EREE 199,200 16,600 X 12/ B
HRELEES) 676,400 =84 x 9%
EREERAK 630,000 ERERRRGEH#CHE, TICURLSE
HROBERIE - 5E) 460,500 =§A% x 5%
/NEE 1,209,200 1,516,900
=5 E () 10,140,800 1,810,464 5,572,100 686,920 | -4568700 -1,123544
FER®H 1,014,080 557,210 =fF x 10%
EANMERTR 71,000 R¥HE 21,0001 K¥50,000M
BEAEER 455,000 = (BEMEBDO—290F M) x5%
mEEE 3,279,544 1,315,130 -1,964,414
IR INEE 829,200 2,273,800 1,444,600 |=ft ZRIEHHERR x 2
Z51 —519814|RA4F R(FF vy a70—HEEE
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